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3.2%

longest.c
#include <stdio.h> if (max > 0)
#include <string.h) printf("%s", longest);
#define MAXLINE 100
return O;
char line[MAXLINE]; )

char longest[MAXLINE];

void copy(char from([], char tol]); void copy(char from[], char to[])

int main() { o
{ Int 1=0,
int len=0;
int max=0: while ((to[i] = from[i]) != 'Ww0")

++i,
while (fgets(line, MAXLINE, stdin) = NULL) { }
len = strlen(line);

if (len > max) {
max = len;
copy(line, longest);

}
}
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gcc (GNU C compiler)

&
$ gcc longest.c
$ ./a.out
=
$ gcc -c longest.c
-0 M
$ gcc -o longest longest.o
2=
$ gcc -o longest longest.c
$ .Jlongest
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3.2%

Mmain.C
#include <stdio.h) while (fgets(line, MAXLINE, stdin) !'= NULL) {
#include <string.h> len = strlen(line);

#include "copy.h"
if (len > max) {

char line[MAXLINE]; max = len;
char longest[MAXLINE]; copy(line, longest);
]
int main() ]
{
int len=0; if (max > 0)
Int max=0; orintf("%s". longest);
return O;




3.2%

copy.h

#define MAXLINE 100
void copy(char from[], char to[]);

copy.c

#include <stdio.h>
#include "copy.h"

void copy(char from[], char to[])
{
int iI=0;

while ((to[i] = from[i]) = 'Ww0")
++;
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- FE 1

$ gcc -c main.c

$ gcc -c copy.c

$ gcc -0 main main.o copy.o

g 2

I:CIDI-

—
1|0

=HO
$ gcc -0 main main.c copy.c

oy
$ ./main
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3% Makefile

« Aol MAZ OF=7| QIsHA AR E|l= O = ALO|Q] A= o|&
A 2 Aol Il =2 Ot = | 52 J|=sot A E I
« I O|F0l= .make(Z2 .mk)et= SEAE £0[HL, &
ZtZ} 10| Makefile = makefile= OIQ 0|22 2 AR SH
10

ChAY: o) Z2|AE
HH2|AE

« O: Makefile
main: main.o copy.o main
gCccC -0 main main.o Copy.o | |
main.o: main.c copy.h ‘ main.o | COpY.o
gcc -c main.c ,
COpy.0: Copy.c copy.h main.c copy.h copy.c copy.h
gCC -C Copy.cC
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3.34 =
make A|AEIQ] AloH

* $ make [-f 0| O] 2T+
- f 8M0| 9o JHAY C|AE 2|LH2| Makefile 2 makefile2 A&t

* make )L':!%ol-l O1| main
$ make [ |
gCcc -C main.c | main.o | COpY.0
gCC -C Ccopy.c

gCcC -0 main main.o Copy.o

« copy.c Ot = &t =, A&l o
$ make
gCcC -C copy.c

gCC -0 main main.o Copy.o
- make A|AEIS 0|50 A=l M} BAE MAST AN
SIS OS] TZ0f|, Ao AZES 3A SEAIZE & US.

main.c copy.h copy.c copy.h
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« T2 C{H US| et AT E
« CHEHOI b
— Gdb (GNU Debugger)

0]
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